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6.3 Parametric Equations Applications

Parametric Equations and Projectile Motion

x(t) = (v, cos0)t +x,
y(1)=-161* +(v,sin6)1 + y,

1.) A baseball was hit with an initial velocity of 150 ft/sec at an angle of 35 degrees
with the horizontal. The ball was hit a height of 3 feet off the ground.

a.) Find the parametric equations that describe the position of the ball as a function of

time.

b.) Describe the ball's position after 1 second, 2 seconds, and 3 seconds.

c.) How long is the ball in flight? What is the horizontal distance it travels before

landing?

d.) How high does the ball go?

e.) Will the ball clear the stadium if the back wall is 40 feet high and 600 feet from home
plate?
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x(1) = (v, cos0)t + x,
y(t) =—161* +(v,sin0)t + y,

2.) At a medieval festival, some garbage is catapulted with an initial velocity of 29 ft/sec
at an angle of 23 degrees. The garbage is 30 inches from the ground when it is released
from the catapult.

a.) Find the parametric equations that describe the position of the garbage as a function

of time. y {Jc\i J9ces?231
j(k\ bt 42950224 £ 28

b.) Does the garbage land in a trash can that is 20 feet away and 2 feet high and a foot in
diameter wide? Prove your answer algebraically.

20 = 7903t
{ = 49

(j({m%\ : -Uo(**&%l-\ﬁs} m?i(ﬁ\\sﬂ S
= %(_W@ -7 00% g\f

2] = 29 cos 25t
T = . /861
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Parametric Equations anc}ZCircuIar Motion (ﬁ: & S:h/(oS /b/x_d) %A

T |)sec TG T 3secods
3.) Ron is on a Ferris wheel of radius 35 feet that turns counterclockwise at the rate of
one revolution every 12 seconds. The lowest point on the Ferris wheel is 15 feet above
ground level at the point (0, 15) on a rectangular coordinate system. Find the
parametric equation for the position of Ron as a function of time, t (in seconds), if the
Ferris wheel starts with Ron at the point (35, 50).
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Parametric Equations and Circular Motion

4.) Find a set of parametric equations for the motion around a Ferris
wheel with a radius of 50 feet, as pictured, if it takes 20 seconds to

reach the top for the first time. F? ‘OOSCCOF‘AS Trtervale - 40O
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Horizontal:

Vertical: - \ / \
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Parametric Equations and Circular Motion

x(f) = Rcos (90 + it ) + X onter + : counterclockwise

y(t) = Rsin(6, + 0t )+ Y oper —w : clockwise
- 2T 0

Y()= 50 (05/7/ ﬁé,?t)

wlt) = So sin (T =Ty 152

5.) Jane is riding on a Ferris wheel with a radius of 30 feet. The wheel
is turning counterclockwise at the rate of one revolution every 105¢<
seconds. Assume the lowest point on the Ferris wheel is 10 feet above
the ground. At t = 0, Jane's seat is on an imaginary line that is parallel
to the ground. Find parametric equations to model Jane's path and
then find Jane's position after 22 seconds.

a.) Find parametric equations
to model Jane's path and then find Jane's

position after 22 seconds.

Y ()= 30 (65(‘/‘/@)
(6 050 (Fkig

(927, mz\

b.) If Jane's friend is on another ride at position (20, 15), how far is

(20~ ‘727>2¢ {(g— (Og\ggg

she from Jane?
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Parametric Equations and Circular Motion

x(t) = Rcos (6’0 + a)t) + X, oter +m : counterclockwise

y(t) = Rsin (90 + a)t) + Y ontor —m : clockwise

6.) A Ferris wheel with a 20 ft radius turns counterclockwise one
revolution every 12 seconds. Eric stands at point D, 75 feet from the
base of the wheel. At the instant Jane is at a point parallel to the
ground (see picture), Eric throws a ball at the Ferris wheel, releasing
it from the same height as the bottom of the wheel. If the ball's initial
speed is 60 ft/sec and it is released at an angle of 120 degrees with
the horizontal, does Jane have a chance to catch the ball?

a.) Find a set of parametric equations

for the ball in terms of time.

X)) = 7S

b.) Find a set of parametric equations

for Jane's position in terms of time.

c.) Find a formula for the distance d(t) between Jane and the ball at

any time ¢t.

d.) Use x3 = tand y3 = d(t) to estimate the minimum distance
between Jane and the ball and when it occurs. When will the
ball and Jane be the closest? Can she catch it?
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Parametric Equations and Circular Motion

x(r) = Rcos (90 +wt ) + X center + : counterclockwise

y(t) = Rsin (490 + a)t) +y — : clockwise

center

7.) Mrs. Lenhard is on a Ferris wheel with a center at (0, 25) and a radius of 20 ft
turning counterclockwise at the rate of one revolution every 12 seconds. Ms. Carrigg is
on a Ferris wheel with a center at (60, 20) and a radius of 15 ft turning
counterclockwise at the rate of one revolution every 8 seconds.

a.) Find a set of parametric equations for Mrs. Lenhard's position in terms of time.

c.) Find the minimum distance between Mrs. Lenhard and Ms. Carrigg if both start out
at a position parallel to the ground (3 o'clock).
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